
∆𝑦 =
𝜆𝐿

𝑑

∆𝑦 =
577 x 10−9 x 0.95

0.35 x 10−3

∆𝑦 = 1.57 x 10−3 m

∆𝑦 =
𝜆𝐿

𝑑

𝐿 =
𝑑Δ𝑦

𝜆

𝐿 =
0.35 x 10−3 x 1.15 x 10−3

577 x 10−9

𝐿 = 0.70 m

∆𝑦 =
4.8 x 10−3

4

∆𝑦 = 1.2 x 10−3 m

𝑑 =
𝜆𝐿

∆𝑦

𝑑 =
390 x 10−9 x 1.4

1.2 x 10−3

𝑑 = 4.55 x 10−4 m

𝑑𝑠𝑖𝑛𝜃 = 𝑚𝜆

𝜃 = 𝑠𝑖𝑛−1 (
𝑚𝜆

𝑑
)

𝜃 = 𝑠𝑖𝑛−1 (
1.5 x 390 x 10−9

4.55 x 10−4 
)

𝜃 = 0.074°

𝑑𝑠𝑖𝑛𝜃 = 𝑚𝜆

𝑚 =
𝑑𝑠𝑖𝑛𝜃

𝜆

𝑚 =
4.55 x 10−4 x 𝑠𝑖𝑛0.27

390 x 10−9

𝑚 = 5.5

𝑚 ∴ 

𝑑𝑠𝑖𝑛𝜃 = 𝑚𝜆

𝑚 =
𝑑𝑠𝑖𝑛𝜃

𝜆

𝑚 =
0.1 x 10−3 x 𝑠𝑖𝑛2.3

670 x 10−9

𝑚 = 6

∆𝑦1 =
𝜆1𝐿

𝑑

∆𝑦1 =
670 x 10−9 x 3.8

0.1 x 10−3

∆𝑦1 = 2.55 x 10−2 m

∆𝑦2 =
𝜆2𝐿

𝑑

∆𝑦2 =
410 x 10−9 x 3.8

0.1 x 10−3

∆𝑦2 = 1.56 x 10−2 m

∆ = 2.55 x 10−2 − 1.56 x 10−2

∆ = 9.88 x 10−3 m

 


